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General Instructions :

(i)
(ii)

(iii)

(iv)

v)

(vi)

(vii)

This question-paper contains five Sections — A, B, C, D and E.

Section — A contains questions 1 to 8 carrying one mark each. Answer to these
questions may be given in one word or a sentence.

Section — B contains questions 9 to 13 carrying three marks each, answers to these
questions may be in 50 to 75 words.

Section — C contains questions 14 to 19 carrying four marks each. Answers to these
questions may be in about 120 words.

Section — D contains questions 20 to 22 carrying five marks each. Answers to these
questions may be in about 150 words.

Section — E contains questions 23 to 25 carrying six marks each. Answer to these
questions may be in about 200 words.

There is no over-all-choice in the question paper, however an internal choice has
been provided in 3 questions of one mark, 2 questions of three marks, 2 questions of

four marks, 1 question of five marks and 1 question of six marks. You have to

attempt only one of the choices in such questions.

Qs ‘3’

Section — A

1. o 99R # 3ucty U Y@ feesie aefla’ 1 3w @ oft | Iefifasa w fafie
IOt 1 ST 3T T AT S h fSesic Pl ITM HH H1 (o foern | S« 97 39
Elied & fIU U8 o R W TS d1 399 373 3dTCh] & fgsie ¢ Sl el dT el-gss
fire <t e Traeet firetd-Jerd g = @ 9 | 31a: 98 I8 MU T8l o wehl foh @ &
feesie ma =t |
forgme < foreg 3w 3ttt <1 919 SraTse forest avi 3uts feafa & fhn w2 | 1

Beena has been using ‘Klean’, a famous detergent available in the market. On

watching numerous advertisements in the television, she decided to try a new brand of

detergent. When she went to the near-by store to purchase the same, she saw

detergents of other producers making similar claims of whiteness and stain removing

abilities. Hence she could not make up her mind as which detergent to purchase.

Name the objection of advertising being discussed in this case.
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2. fomum fisr & we geeh o w9 A “Wifaes faawor =1 31 G | 1
YT
FoquE g o1 T 37 R 7

Give the meaning of ‘Physical Distribution’ as an element of Marketing Mix.
OR

What is meant by ‘Marketing Management’ ?

3. M Wik foreetyor w1 afeaTivg SR | 1
YT
T’ I TRHATINT HIT |
Define ‘Workforce Analysis’.
OR

Define ‘Selection’.

4. TIATeHY sfe fAafiee 1987 € Oie] ST o il e faaw § §ew 7 | 9k Hrm

: TS TUTEAT ATel UL T IcaTe oL T & 3Td: STSIR H 39T 3721 AW & | fafrdieto
! ITH S o foTe 30 st | Tmior, fomr, foshar, g -Tame Sansti qen dehiehl San3t &
T 3terT-3rem fawm € | s St 1 YeTeH 8 9 T 8 9T UTeh 3Tfe Wi
g 31 o | Tt forn 2 T wariaror <hY sgerdt g3 STevaeharal sl gl i & forg
foremm wery % fagT=1 I FIfed e i |

oY % IF M g 1 Seord e, f8 et Sgerd! g3 setdl o fofe, TeTiferd
T =TEe 2 | 1

Appliances India Ltd. is engaged in manufacturing and distribution of home

appliances since 1987. It has a good name in the market as the company is producing
good quality appliances. It has separate departments for manufacturing, finance, sales,
maintenance services and technical services to achieve specialization.
Since the areas of operations of the company have increased and customers have
become more demanding, the company decided to modify the existing principle of
management to meet the changing requirements of the environment.
State the general principle of management which the company wants to modify to
meet the changing requirements.
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forcfi aTeR fopa wepm Tt aftemafrll < Yod-@is i gETes AT @ 7

How does Financial Market facilitate ‘Price Discovery’ of financial assets ?

AfeTd P 3176 HEIH b =, &6 Ted 3 fafir= fawi § wrdes va Srdenr ureashai
o ToTu &% fovafaramerd S | Afetd qiaR fTfiHee o FEHT dehrieh! oI | HIgeR L& 9
rafoa $o Riwar off | St & aea gened favm 3 gaes foe sfie favafomem @ @
SSfT=IfaT ATt ol Wl ot o1 fof foram |

¥cfl o H1d o SRR I TEETHT |

Biru Nandan, Chairman of Lalit group of companies founded ‘Biru University’ for
undergraduate and postgraduate courses in diverse disciplines. The Information
Technology department of the ‘Lalit Power Ltd., had few vacancies related to Cyber
Security. The Human Resource Department of the Company decided to recruit fresh
engineering graduates from ‘Biru University’ for the same. Identify the type of source
of recruitment.

AT B qehriehl TE™ | HyH fEsmsfi o1 Sid g0 S o garq auf o o feser
HIST % IUHA H T i 1 AHT I8 | IH 370 1T UTehi, ITAM Hl I Areft
foraur spaer, qea-fafon Hifd senfe % s # o oE 2 )

AT o 3T YhR bl TEATHY 18 I S el h1et T 3799 T 1 feem ygm
T 3Gh! SATIharl feiter A o foru ferepfir s =medi 2 |

Varsha Jain after completing her fashion designing course from Indian Institute of
Fashion Technology planned to enter into designer clothing venture. She had to
address issues like her target customers, channel of distribution to be used, pricing
policy etc. Identify the type of plan that Varsha Jain needs to develop to provide
direction and scope to her organization in the long run.

et wfasfa wa fafm a1 o fopedl a1 faepmefiar serit 1 Seot@ Hifvw |
3T
o STsIR o 3TedT SR T A B 7

State any two ‘Developmental Functions’ of Securities and Exchange Board of India.
OR

What is meant by ‘Allocative Function’ of Financial Markets ?
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Section — B

9.  “Yoft HTEAT BT 1 3 B 7 Toh A B GSft wrean B wnfera w0 9t Tt @ e
' I HHSATST | 3
YT
Th O] 1 HRIRfet UShl STTEvehd1al sl THTfad i aTct fohmal i Shiehi ol THZATST, |
What is meant by ‘Capital Structure’ ? Explain any two factors that affect the capital
structure of a company.

OR
Explain any three factors that affect the working capital requirements of a company.

10.  TH< Ja9 o Teff TRl T 39wk 7 3R el Yaeerehi i ITEIRed 8 |” THesy | 3
YT
SIS A HRT FHATET S I8 TIY L a1 79 Ja-4 I e feA-ufafeca se @ g |

‘Co-ordination is needed at all levels of management and is the responsibility of all
managers. ~ Explain.

OR
Explain any three reasons, which clarify that management is gaining importance day
by day.

11, T ISR < T aUT 36 ISR 3 YIRS Y SavIehdI3l Ud $TsI3l bl GHe %
g S fefiee 3 et sive W e s gieaerd qe saTes SR 6
T S S U, Sl U U1 sanfifa sted gearte aftiferd 9, SR H Sar | 34 gt
IS ST TUTET It AT TRt At O, W W & | 9 U ITel i 3T
gicfrE @ T =med 9 | ST 919 I S § 3= 9gd 311 T, 999 T 99 T,
FiTeh o T o foh T S8 A =TT 9 Shaget it Il o foTu AIATEehar Scadl o
Tehd & Wifeh et W 37 Icurel o foshl % R H SATvaed el 8 @hd | T 1 36
SRTET T ITOTY fHe qerm IeaTel ht Wit Sl IE B TS | TTEehI i SIS THE ITRAT AAT o
IHh AT & T | 38 IATeh Yo YA i sh1 WeTg e off | e -siad & qre-an,
3E%h! VA oh RV FEATS FIUE hl GG Teh FIABTI-Tcieh & 7T | STHIRT FEHT
TR T | T HEgd i & | 3
() & um fafies gro smfera fopa S aret faavm yere geia w61 ugefi |

(i) 39Uk ferfa o JehtfaTd foraur shaiat bl sITfeeT o oy THEsy |
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JTM Ltd. launched ‘Buddyline’, an exercise book and comprehensive stationery brand
name comprising of ball pens, gel pens and geometry boxes after identifying the target
market and understanding the needs and wants of the consumers of that market. All
their products were of good quality and eco-friendly but expensive. They wanted to
distinguish their products from that of their competitors. They spent lot of efforts, time
and money in creating the brand name, as they knew that without a brand name, they
can only create awareness for the generic products and can never be sure of the sale of
their products. The effort paid off and the demand for the products started growing.
The customers liked the brand and became habitual to it. They did not mind paying a
higher price. Over a period of time, it became a status symbol to buy ‘Buddyline’
brand because of its quality. The consumers felt pride in using them.

(1)  Identify the marketing management philosophy followed by JTM Ltd.

(1)) Explain the advantages of branding to the marketeers highlighted in the above

casc.

12, i T AR T T e T Y SSHA T I S ¥ | 3 Sgehm
5 € TICE R | 98 STSHHM T TG AT g8 T il § T Ik T IATMCd STSHhHA
faftr wohR o worad aum Yehel § 3IucTey & | I8 gHfTad e o fore T omees s o forg
UG T 3T U o g 3evd (Heifid fopu & a2 ekt & § T@d §¢ 98 S
HA 3 |
T ! TEAH H IS 1 AT I3 oh RN IHeh! HGH ITST I Tal AT | 3Tfereh o
T A o ToTQ 30 ATt § heldt 3TRW 1 | 3898 FHyfi-peft forawor o ¢t Bt off qen
ISR ST H T T TE1 Tga aret off | A=, SHeh! STEEshIA hi /i = 78 3R
3ok HROT TTATAT  STTR H T Bt foT | I8 379 STSIR 91T 1 $ 3791 Tfciti=i
o fore @t fear |
eff < e o IR § Tl sreeri & fore 38 fafia worae % 4,000 mEshm kel 6
3TYf Teh o TG Teh i 1 TS TTH 3T | I8 GHTaa i o fore foh vl v ox ot
Bl AT SATCIM <1 Tt T9 T g1 35 AfAih HHETRI <t FYRE 6l | 389 TR 98 T0 W
ITUTEH AT ST o Uehel o1 I hid § Tt g3, T AT IcuTed AT W |

wifeferferat w61 qol shea T qen weEt 1 it % for few e st w1 QU e g,
i 3 I1ge fera fop &g Ter % Ush HEvegul 981 shi 3TN SAH TR S W R |

HidT g0 €A | U ST aTet To4 987 I 9g =TT | 91 & Teh IGTET hl Ferdl |
3H HAEAST |

E5E
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Mita has a successful ice cream business at Bikaner, namely ‘Smartflavours’. Her ice
creams are utterly delicious. She makes ice creams from fresh milk and the same are
available in a wide range of flavours and packs. She sets viable business objectives
and works with the same in mind in order to ensure that the customers will come back
for purchasing.

Having the first mover advantage, her business was doing well. To earn higher profits,
she started cutting costs. This would sometimes lead to delay in delivery and the ice
cream was not reaching the market in time. Over a period of time, the demand for her
ice cream declined and because of it the competitors entered the market. She lost some
of her market share to competitors.

At the beginning of summer season, she got back to back orders for supply of 4,000
ice cream packs of different flavours for special occasions. To ensure that the task was
completed and orders delivered in time she hired additional workers. She was, thus
able to produce and deliver the ice cream packs but at a high production cost. While
completing activities and finishing the given task for achieving goals, Mita realized
that she was ignoring one of the important aspects of management.

Identify the aspects of management that has been ignored by Mita. Also explain the
same with the help of an example.

13, wmmfy aen e wmhed @ R S % w9 b e B | T
e 31 it 58 a1 8 7 3

State ‘Job Enrichment’ and ‘Employee Participation’ as non-financial incentives. How
do they motivate employees ?

s ‘g’

Section — C

14, “3TIT=Ties WeA” 1 318 GIT | 599k fehmal oM ATHT 31 Ieoid shitg | 4
YT
SRR ST 1 91 37 8 7 Torehl TiTe H TR 31T o HEw W T S arl
el ot gt o1 ST IR |
Give the meaning of ‘Informal Organisation’. State it’s any three advantages.

OR

What is meant by ‘Delegation’ ? State any three points which highlight the importance
of delegation in an organisation.

ESE
66/1/2 7 Ry P.T.O.
Eeyee)



15.

16.

Tieh TaEr=IS Tiavfd STSTR # Teh Farmes o &9 o il a8 | 98 Teh U Fad SIS 1
Yo hLaT & Sel Sferferit b @lier o s S @ | 9 fafeeatet s fafem qen
o fraer % 31aEt v et 7 | fafres qun qa: e it 38wtk & arem |, Sl
Ttk IcaTee A 92l § T foher Sirar 2 | 91 gifvad o o foe o frerems sar
R § e ud fsuet o - ot Heh, IR SISTR 1 TRl 37 &7 & ffa <t St
2 3TN 38 T- 1 foem™ It e 3 SIgHR ersisd &9 & gfefyd fhan smar 2 |
I8 u ft =t fafafia teh, 378 IR SIaeri 9T S sl (et o 9§ firfaa @
&G T SheHi bl I3TeRL Fered Tt =ht gieed HEat 2 |

I TG H T(eh TqE=Sl gRI HUTIGa foI¥ il sh1 9o foar TR 2 | Sotier
 UfRaT <l 34T L §U Wieh TFI=S o fohrg] =X ShIAT T AU HINIT |

Stock exchange acts as a regulator of the securities market. It creates a continuous

market where the securities are bought and sold. It gives investors the chance to
disinvest and reinvest. Through this process of disinvestment and reinvestment,
savings get channelized into their most productive investment avenues. To ensure that
the investing public gets a safe and fair deal in the market, the membership of the
stock exchange is well regulated and its dealings are well defined according to the
existing legal framework. It also ensures wider share of ownership by regulating new
issues, better trading practices and taking effective steps in educating the public about
investments.

Various functions performed by the Stock Exchange are discussed in the above para.
By quoting lines from the above para, state any four functions of stock exchange.

fosTom wa e foshar o fopeel TR STTET W 37=iwg hifT |
YT
foraur <6 f1 St 1 EHETST -
() Toauom e, qen
(i) TTE THA T |
Differentiate between ‘Advertising’ and ‘Personal Selling’ on any four bases.
OR
Explain the following functions of marketing :
(1) Marketing planning ; and

(i1)) Customer support services

66/1/2 8 Q%



17. TS o fafiade 1 grdeh Td TEE - -QTeHh e o foaiur @ ot Tsh 31 3Ushy TRA
foram | 381 38 R Y |fesll % Wfd SuvikTatt i snerfiekdred Sl S % foTe T
Taerr fopam | 3 W fob ARt SuviRT wfewat 3T § 3TERT fob ST aTel wTe
ERAT % SR H Ff=a @ | 38 91 76 90% TRaR 37k foehedi o1 @I § & | e o
I GRI FfesrT I <hl SHrRifafy sl Feifa e o forg Hiy faesi o v wg @ 971
fopan 8 | 32 =g ok foran o =8 e faftrll gro wmm-1 afesat 3 & forg
SHIehi oh! TRIE0T fem e | forresii 3 firgt saey qendiienl 1 ot gorma feam fresh wem €
e TgAId H a1 TRt YeTaR KR |

ITIRE 3TT=SE H YT SHATTHTRIh JATSRUT o g STRTH ] Ug=1i-e U uemsy | 4

Mahinder Agro Ltd. started a new venture for distribution of harmful and chemical
fertilizers free vegetables. They conducted a survey to find out consumer preferences
for such vegetables.

They found that most of the consumers were concerned about the harmful chemicals
being used in growing the vegetables. They found that 90% of the households were
searching for its alternatives. The company contacted a group of agriculture experts to
lay down the procedure for growing the vegetables by the farmers. They decided to
train the farmers in new technology to grow chemical free vegetables according to new
innovative methods. The experts also suggested soil management techniques through
which farmers would be able to create an abundant and lasting harvest.

Identify and explain the two dimensions of business environment highlighted in the
above para.

18. = fafiee gfved o< & 7&R 4w aifies Jerem Srfspm i et & e 3=
TeEhT TS WS hl TS 1 FHRAATIEh HIHAT hid & fore wioss & faveryo
g wiosgamft gRT 3T 99 % fIT ASHN ST 8 | ST OIS ShT SR hish, aeAi
ST qUIAET STfe <hl ST 2 RTTh o FITS hl AFTEIH JeH hid o foTT Iaer Bid & | ek
fommst & wy foam-famet &6 % gverd fowga AT GAR A Sl € | A
ERIT I AT o foTe IRiE S ggaret ot Y 1t & | i o7 v siifgss nafafer g
frem gfgam weumrfs au foaeryut fufem 6t stawesar gt 7, 31d: I8 geId: 3
J&Y gRT G Sl STl & | T AT TET shaed TSI i fhanf<rd &id & | 7e
TR TRl sl ASHTAT @ foraford 8 o1 7 a1 S1RrehR BlaT @ 31 9 81 3 1 3T Y
I3 BT i I AN BT & | I T Ig GHTad Ll g fob A1 1 §9H § 8H
STl S 349 I~ ATH1 o foTe =Imerenma 2 |

3I9Uh | ftta e bl fonegl @ dimnsti ao forel € fasansti 1 Sc@ hifvsie | 4
66/1/2 9 g% P.T.O.




Mega Ltd. holds an Annual Management Programme every year in the month of
March in which the top managerial personnel formulate plans for the next year by
analyzing and predicting the future to meet future events effectively.

As they are responsible for providing direction to the organization, facts are
thoroughly checked using scientific calculations. Detailed plans are prepared after
discussion with professional experts. Preliminary investigations are also undertaken to
find out the viability of the plan. Since it is an intellectual activity requiring intelligent
imagination and sound judgement so it is mainly done by the top management.
Usually rest of the members just implement the plans. Middle level managers are
neither allowed to deviate from the plans nor are they permitted to act on their own.
The top management ensures that the expenses incurred in formulating the plans
justify the benefits derived from them.

State any two limitations and any two features of planning discussed above.

19. fomer fafies 3 feumeer yew = fyardt & fostelt @ skl o1 oo %@ qon R &
STITIET <l geh! HATYfd i & fore wsh fmfvflt serts weonfud =i & | 3eT Scured @& ufd
THTE 500 TG o1 | Yawerent gr1 I8 Aol foram mom 136 10 st ab o1 Icte fomem
HT BT | S THTE % 37d 8 IcdTe 450 TS o7 | 37Tl FH18 37T agant 470 e

B T | U HHTE U9 STE 460 S o7 | g ggdiel W T g foh fostet i

TR STYfd o HROT IHTE H IAR-=€d 8l T 4T |

(31) ITIH TG H T4 o Teh 1 shl UThHAT o H =0T hl =il shi A & | 3 =on
I HHSATST |

(&) = g 37 =wn 1 off Seorg Hifve eeht ==t Inee s HAd A TE 7 |

Vinber Ltd. set up a manufacturing unit at Bhiwadi in Himachal Pradesh to

manufacture electric geysers and supply them to dealers all over the country. Their
production target was 500 geysers per week. It was decided by the management that

variation in production upto 10 units would be acceptable.

At the end of the first week, the production was 450 geysers. The next week,

production increased to 470 geysers. A week later, production was 460 geysers. On

investigation, it was found that fluctuation in production was due to irregular supply of

electricity.

(a) The above para discusses some of the steps in the process of one of the functions
of management. Explain these steps.

(b) Also, state the step(s) that have not been discussed in the above para.

E5E
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21.
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Section — D

Tram ot weh uftrg TmsieEt ot o Tet 311 Teliae Afdes § Od THie Jeeeeh o &9
T S B T ot | 3Hb B H HrEd-fawor Gar e, wdl, arierfie v iR demmd
forhfa ET aUT SR <k F1&10T I Glaurses ST Ffeierd 91 | I/ 379 BT
% Fad freor & foTe T % Ty TeEYH R gu A | S9-99 wrt 31fies & i Sfew
B W Y H T I8 TS AT 319 BT Bl T YUl i & AT il b
Treqor &3 o forw feres aEn 4 o fafaanfora e e oft |

forl ua famgatl & g1 e i fo @7 fafmm fore whR @med & fog
ATWRRT BT |

Nisha Sethi was working as a Human Resource Manager in a famous consultancy
firm, KLI Global Services. Her job included preparing job descriptions, recruitment,
developing compensation and incentive plans and facilitating employee learning. They
had entered into alliances with institutes to ensure continuous learning of their
employees. With the jobs becoming more and more complex, KLI Global Services
invested large amount of money in making the employees learn the skills necessary to
complete the jobs.

State by giving any five points, how this investment is likely to benefit the

organisation ?

vee = fogr=ai ot fepegl uir fereivanati =1 awgmsy |
COC)|
Iemes wery & fre Rrgr=i <t g -
(37) @A, 7 T Tohtra, qe
(&) Tk e o1 SHeh JAfrehIireh e ud Ty % fore o

Explain any five features of principles of management.
OR
Explain the following principles of scientific management :
(a) Harmony, not discord ; and
(b) Development of each and every person to his or her greatest efficiency and
prosperity.

ESE
11 min  P.T.O.
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A § dieds! IAX-T¢d 9gd &l HIHT=I a2l 3TfYeh BT 8 | I8 g9R forsieft < 3uehtun 9
SEfas, BRI qi TR-HEITE hl JohaT TgaTeht STTRRTRIa: 3! qul &9 & afae
& 4 Bied g | T-TE FEF 4 IT IR & Y & dicesl AR-=¢E hl T

220 Fee | 230 Flee & i 8, RaASSE g 1 ol fo | 99w ) ST 9ra 6
AT 1 G K feo m, 32 a8 fote forern fo6 v & o= &= | off dieds IaR-9eE
&I JTETIHATSTT Bl U HH o fIT 90 diee T 260 dlee % & WLTAEHH I TR §
IAT ST | W b <feor, afvem 9 qeff &t < fore o= srfiremansti <t fgfaa 1 8 aifs
3 fHT &t H diees 3TerT-37er oft | Fefy avft et o weerseE % fmi % foe
forgert foparm Tram e <ifers b &1 @ qER &1 o Icrg | vt off |

(37) TA-TITE HH o TSATHS &I ol TEATHT |
(F) I T H T T & o feheal S ATl q2T g1 Hwiati i Seorg HifT |

Voltage fluctuations have been common and quite high in India. They harm our
electrical appliances like televisions, refrigerators and air conditioners, often leaving
them in a permanently damaged condition. N-Guard Company decided to manufacture
stabilizers for North India where the voltage fluctuation ranges from 220 V to 230 V.
Once the demand for North India was taken care of, they decided to launch stabilizers
of varying voltages from 90 V — 260 V for meeting the requirements of voltage
fluctuations in other regions of India also. Three engineers were appointed for South,
West and East regions of India, as the voltage was different in all the three regions.
Though all the engineers were appointed to manufacture stabilizers but the product

differed from region to region.
(a) Identify the organisational structure of N-Guard Company.

(b) State any two advantages and two limitations of the structure identified in the

above para.



Qg ¥’
Section — E
© 23, am Ty, TR TeomseE % ger ywEie St B | 98 SNdmesd e i T
fomfoft et 2 | ST &1 SREEH @1 @ SEH Thia § SHE Sl Bl T A agehd
fepar STaT & S 3cuteH, ford, fauom we we Heree | ER tetresig i il g
AT H B | HREH § 95d o5 999 8 9gd | 99eTd 9emi Y @iE el g8 off faehi
I IcTeT Yarwereh 80T T 1 off | I § STl YeuTd & | a99-89T |
Je4hi TF HITFTR < S TAdhaHT &l STt ot | FHeati ol &9 § T@d g %0 I
3 foemm fig it Ffea 6t @ awafas wrRi-ve & @y ™ FE 79 gemai
Je4hi o STTCITT ohi SHHTATIT qh 5T T 14 T o1 SN o1 | Tomm fég = o7 s
T fietet 38 ST <l Tme fob Jeryr 9T =TEd 8 7 3ok UvETd 98 shHana § fien 3ik
38 YRl % =Rl & 3TaTa fekan | 35 et sl ot a8 Stwere fean o6 a5 3aeh
THSIS ¥ Je-4hi 1 A HUTT | 36 YR I8 Yo-4ehl Td HEAT o o
TATAhETHAT 1 G AT | IHA T Hawe| sl Wi g feham ST 7o+ iz fafer < weh
TR % 3Tet HHATET ! FreT™ § Fohed 81 TR | Ja-2 g 36k 1 ol Tftehf fireft il
38 7= ToTeH o ToTQ i | 10% g o E1e Teh THT0T-93 f&am 7w |
() TFramm &g g o Sl &1 fsared fom T St 39 ug % fore fysmifea fope s
3mevTeh o R W 98 R @ AT | T A Ui BRI 1 Ieoi@ Hife feh
fasare <t srden femm fig & < < Fhdi B |

(i) Tramm fag =1 fou mu stiirkepi o am SRy | 6

Pratap Singh is the Chief Executive Officer of Nissar Enterprises. It is an automobile

parts manufacturing company. The enterprise has a functional structure, in which jobs
of similar nature have been grouped together as Production, Finance, Marketing and
Human Resource. Nissar Enterprises has its manufacturing unit at Manesar. The
factory has been plagued with many problems for a long time which was in the
knowledge of the Production Manager, Varun Sharma. The workers had internal
differences. Time and again, there were misunderstandings between the management
and the workers. Keeping the problems in mind, Varun Sharma appointed, Siyaram
Singh who had 14 years of experience of working with the actual work force and
passing on instructions of the middle management to the workers.

Siyaram Singh met Varun Sharma to understand what the management wanted ?
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Thereafter he met the workers and conveyed the ideas of management to them. He also
promised the workers to convey their problems to the management. In this way, he

cleared the misunderstanding between the management and the workers.

He also sorted out internal differences and was able to unite the workers within a
month of his joining. His work was acknowledged by management and he was given a

certificate of good performance along with 10% increase in salary.

(i) Siyaram Singh performed some of the functions which are required to be
performed at the position he is working at. State any five other functions

Siyaram Singh is expected to perform.

(i1)) Name the incentives provided to Siyaram Singh.

fereft oft 3Tm i Thetar o T Yog forta FrieH smawaes & 1° 18 ©: %R0 ¢d gu sd
YA I FHFTET |

e
forcffar el ot fomaneera ot wr forfier wareeres g0 fotu ST aret < g Toofart ot wmremms |

“Sound Financial Planning is essential for the success of any enterprise.” Explain this
statement by giving any six reasons.

OR
Explain the three major decisions that finance manager has to take while performing

the finance function.

FTed, Tsh WUl IUHE HSA © | 8 IuHiEda o fore foeeft/ugia tearh &
femet & & o Sl st <, forwr o —
SAfereh @TET — @d T ©I a’, dlish Sifeh Edl o Hawd & SN § SIPeehdl $hellg ST Heh
AT IUHTFATITT <] TEIAT W DRt S8 THRH a1 shieTsieh AiRyferd 8, S @
&1 3R IRG forar <11 Foh | Topem Te™ & fomiwst seermeti 3 Wt # hieATerehi o =1aw
T qe ek WTel % Hewd <l IS | Al o1 e fohan man fob wmea frafia w9 9
T 1 ST AT @ Tk WRT ATq3Tl 3727a ShreTerhi sl 3ufefa St freraei =61 g
ST ek | St | fafir Icurel i ure % IR H ST 3cd i % e wegun o
gRTTHT 6t gehT TTfeeh PRt SRR SrE’ H YehII TSR SITT B | I8 USRS i
famoT Y e % foT Femar T it Ters off S et R |

SUUHT FTeRe B Uikl Sgd Hid U IUWIHAST o f&al % e o gaedd % forg
S arrE’ g fsufed fohu ST aret st o Ieer@ HIfT |
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‘VOICE’ is an important consumer organization. It organized workshops in the
months of December in Delhi/NCR for consumers. The theme was ‘Organic Food —
From Farm to Plate’, to spread awareness on the importance of organic farming and to
encourage consumers to switch from conventional food, that contains chemicals and
pesticides to organic food. Expert speakers from farmers’ community explained the
harmful effects of usage of pesticides in farming and the importance of organic food.
People were informed that the organization regularly tests samples to detect
adulteration like presence of heavy metals or pesticides. The results of the tests are
published in their monthly magazine ‘Consumer Voice’ to make people aware of
quality of different products. It also provides aid and legal advice to the consumers in
seeking a remedy.

State the functions performed by the Consumer Voice for the protection and

promotion of consumer interest by quoting lines from the above para.
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